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General Instructions :

(i) All questions are compulsory.

(ii) This question paper consists of four Section A, B, C and D. Section - A contains I
questions of one mark each, Section * B is of 10 questions of two marks each,
Section - C is of 9 questions of three mnrks each and Section - D is of 3 questions
offive marks each.

(iii) There is no overall choice. However, an internal choice has been provided in one
question of 2 marks, one question of 3 marlcs and all the questions of 5 marks
weightage.'A student has to attempt only one of the alternatives in such questions.

(iv) Wherever necessary, the diagrams drawn should be neat and properly labetled.

Epit- A

SECTION. A
1. F{fiH qrrq*qoT H} d sTrqr m,{dr t qcrEe r

State the cause of Accelerated Eutrophication.

(1x8=E)
1

2. +n' ftq qr {t flTd { ffi gq *,{isql H,;if dr ereqTPf,*. d{ilr( wt+ 'rs t ,.u,, gfu' re6,

Hr t, q6qm ir'{rdlqg I I

Identify 'a' and 'b' in the figure given below representing proportionate number of
major vertebrate taxa.
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3.

4.

5.

7.

8.

ffi f'o t+ =ftq s'r EqrgruT {Frq cil Bqrfr Fqr+$ €itr€n il qm qqr ifiin t, ofu qflr{q
qe qx, wimtrri r

Give an example of an organism that enters 'diapause' and why.

ts-{ * smfi qrqifuit*'qrq frfrsqfqr qrrraq rfi-qqh{ g{T{r cfrfi-qdrw q,-{+ +flmq
F-t{Etdr tnrfu.ug*'qrqlqoqqqM *T qd+fi qq*?-fr d *r*' r

Name the two intermediate hosts which the human liver fluke depends on to complete
its life cycle so as to facilitate parasitization of its primary host. :

sq qrql+ slftrq,reTf *' rsq sr qrrT ftfuq q} ffi |ffifu DNA sl saqr s.{-+ + frq dq
Ei{qif+sqilsqTmEt-trt 

I

Mention the type of host cells suitable for the gene guns to introduce an alien DNA.

tS frtai qi ron 61 ftlfue,re+ *'qrq frkq vi q4;1 ii rree yf{rqTr rqrq E-{+ + fuq
'siffiq €iqiftdt' *'sq ii $d mr& t r

Name any two types of cells which act as 'Cellular barriers' to provide Innate Immunity
in humans.

AAiirrii{HEr[ oNa e-gsqf,rHT *{rt*,sr+meiart, qoeq I

Mention how does DNA polymorphism arise in a population.

d€ +q $r q'q frkqftilt'6rn€ sT sfidEr,, ;nar qrar * r

write the name of the organism that is referred to as the 'Terror of Bengal'.

ETUiS:- B

SECTION - B (2x10 =20\

9. qr{dqt+ wrrr q;uif t qflTrqq' Hqr ttrSr Cqrd-+cT Wt da'q}O FH-k{ srdk{r qErql + q+

*e t, sq+qrq ftfuq I q=T{ t qwr{{ a+ tpr*, {Ersn{q l 2

Name the organic materials the exine and intine of an angiosperm pollen grains are
made up of . Explain the role of exine.

10. (i) Es ffir*., EET ;rH frfuq fuci gflq fqqrum t*. o{rsifrm qrc +r qtffis@ +
{iqiffi t r* riqr qfrq I

(ii) T6 trs silrrr q{ E€ M w qilqr ss+ fqw it srarEq r 2
(i) Name the scientist who suggested that the genetic code should be made of a

combination of three nucleotides.

(ii) Explain the basis on which he arrived at this conclusion.

tP.T.O.



11. qrqi { *q r sra ABo {mT q{6t o,r f+s vm, r fuiflr €ldr t ? frreT {ffi sifrr#teit Bt {r+{r
q{EftT $r rFrr mnq dnr t, ftafuq r 2

OTqET

tmfufuil ffi t qr+ qd qrFft 6p-ppfiul ffiefu + q6,ii *'=nq frfiqq r r*oqr qro-

q.rsqrflq ${fuq I

(i) rTrqT XX iST;1qXO *'qrq
(ii) qrqr zw sT T{ zz *'qrq
How does the gene 'I' control ABO blood groups in humans ? Write the effect the gene

has on the structure of red blood cells.
OR

Write the types of sex-determination mechanisms the following crosses show. Give an

example of each type.
(0 Female XX with Male XO
(ii) Female ZW with MaLeZZ

t2. qe{ + tt i qhn + dq {fitur gtrqT rrqT fu{i| qh} +i *qrt }'q{ffi ffid aerur t I {is-{ur

+qfirunq { qrqr trqr l* s+f q{*tq mqu 500/ t} t t

(i) \iq,' q+e q,i et rcrqer t {m.{ur sT t6qrq Hqr{g I

(i0 tqtrqt{51ur*'rsq$t;T1rtfrfu t 2

Acrosswascarriedoutbetweentwopeap1antsshowingthecontrastingtraitsofheight
ofthe plant. The result ofthe cross show edil}Voofparental characters. \
(i) Work out the cross with the help of a Punnett square. t(ii) Name the type of the cross carried out.

13. Enq{rT A{q[o0 {fiflqiT ffi qibd fuTq + oTrqt H{sr sTrqqhi ++ qrq t$q qr vqt t r
qqwqq 1 2

How can healthy potato plants be obtained from a desired potato variety which is viral
infected ? Explain.

14. DNA q{ qt 'ftqfi-qrt flqt' H r{fi t r rt qe ;m+ *if f<qr T qr t 2

How are 'sticky ends' formed on a DNA strand.? Why are they so called ?

15. qrdqrcilft t+q€{T6{uD H *,6Pr t r gs*-r{aiq it r+rtflq {HE + +rT q6m fti *, frfuq t 2

What is Bio piracy ? State the initiative taken by the Indian Parliament towards it.

16. g5Qsr eng firflfirsq+rEqffi qFrq q{risr *1 qr+en* l€Tfr f,fr Eiffi r+ Ei t 2

Construct afiage pyramid which reflects a stable growth status of human population.

t7. w6mciuorEFItIFr6t++elftfitffi, qr{Rrit+t st{qtq6'mwiTnT+,r(+frt rsqlFrorti'gq
tS +{'qt {trnr('ffirqq r 2

Apart from being part of the food chain, predators play other important roles. Mention
any two such roles supported by examples.

18. dfrrT itm pBR3p2 t "ori" qq1 "ffi ercr'61 Tfr{sT qf,r{q | 2

Write the role of 'Ori' and 'restriction' site.in a cloning vector pBR322.



ETGT- C

SECTION - C
lto€Fnq gm qqfu +fti qFqqtq CfiFr) v"rqr tqr WTr$rqg€{r rVswtmrfu'r+rr qT ?

oNr.n
if'Tm + HqTuii st dvnqfr q{ fs+ rrq s{q+ srrT sr *FI{FT rsos t loqr qr, qr{ {n 1900 iFr-z16
ftHr q6qq srT {6r r ss*' urq *t et*lt qr+ { frt Ht Et, *- q,rrur q-fl-{g r

A colourblind child is born to a normal couple. Work out a cross to show how it ispossible. Mention the sex of this child.

OR
Mendel published his work on inheritance of characters in 1865, but it remained
unrecognized till 1900. Give three reasons for the delay in accepting his work.

20' gs Hrqrq *q { r+mr"r di w qs'g* tqr geTr dr ftil&fenqFil sT irqr gs'HrqFq T+ +{rg$ r uw *t+ * vo g* or q's fu g* +oo pqqr6 
ep,, + .,.l*i Bt *- *"Ei f;

$}+dr S dqlErfuqrqm qr r- e

(a) {s {*pr qi rrodvn+d qr}*.sq { wiqq r g* ofuy*r$qfr or Efr{r€q qf,r{g I(b) {€ {h +dvrFrfr qfu6q + dr M' sflq Frfiffia *, frrfuq r 3
A cross between a normal couple resulted in a son who was haemophilic and a normal
daughter. In course of time, when the daughter was married to a normal man, to their
surprise, the grandson was also haemophilic.
(a) Represent this cross in the form of a pedigree chart. Give the genotypes of the

daughter and her husband.
(b) Write the conclusion you draw of the inheritance pattern of this disease.

2t.'3rcFTR stt df dr Ei qiq kqr qnr w t fu'sr*'qrqr ee+ fr Bif qqr Ei+ t r fiunrrg-sq 
"=r+HIIT €{trf q{6R dsn 3trFr qBw,rc fuqr cnar rcr t r erw eTrr*t ffio. dt.R t+ qFffii il

frFcdlFqf +qrt{qcrrrf,rsd*q6{+6ini+ snqa*Ftn ? 3
Women are often, blame-d for producing female children. Consequently, they are ill
treated and ostracized. How will you address this issue scientifically if you-were to
conduct an awareness prograflrme to highlight the values involved ?

22. qrfiwrr@*m,.Erq*'rqfi'rrqifuH e+riuqal-gq | 6s-: qm}+i1rqikdsmqg 3
Draw a labelled diagram of the sectional view of a human seminiferous tubule. (six
parts to be labelled) 

\

23. (0 mqfro sqr<nmr H m,-f+ t r Anr=r ron *'qfti=ii if qc fu+firy-a wI etfr t r(i0 ftFr{ eklfcqmfffigeqrsrdriieqrqrqrq*drt frfuq I 3(i) What is primary productivity ? Why does it vary in different types of eco-
systems ?

(ii) State the relation between gross and net primary productivity.
57tU2 s
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(3 x 9 =27)

r qs'Tiilpr Hro rfliEqfu'tsr H
3
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.ttX&on {tw-{i *'sfffltqq :dfrq

tl

EI

24. # rqg rrq rnq's'r €ilq-fi 3

qir'(a) f,at Ol it enen eil{sH*tqvnqtrqu I

qtqftqi *t er{qffi *t qsn t, w qt ii t +t{ Hr qs-+* lqrsr nqfu H,i ffit r*n t
qfltq'n r

(iii) rrrq +i x-€mT qr tqqm ,rqr t sfu s{r+'sqr qfrsqiil{ kg tqr Evrl+ ,r+r t r {q frE
tqq,rqffirfldEq I

Study the graph given below and answer the questions that follow :

t
2
Fr
anz
t-l

2o
fr
-I
aro&

(i) Write the status of food and space in the curves (a) and (b).

(ii) In the absence of predators, which one of the two curves would appropriately
depict the prey population ?

(iii) Time has been shown on X-axis and there is a parallel dotted line above it. Give
the significance of this dotted line.

25. nNe aqftr*-qur *t vtffir *'enr 6rilT +'qtdl *t =rET { +tzts*'tmq.r if ern wir+ { fris
nF'r{v6r{rf,rfird t sqgrEg I

How did the process of RNA interference help to control the nematode from infecting' 
roots of tobacco plants ? Explain.

26. p-{rm *it it gq{ sr€ +dtrq, qgqtqqrit +6iit dr Fit t-err Enff t r tt ffi d s-{m *if
* qrq ftTnqqwr rowrcrT EtdT t I

Why are beehives kept in crop field during flowering period ? Name any two crop fields
where this is practiced.

(i)

(ii)

{Tc(t) +

rrME c) +



27. (a)

(b)

(a)

(b)

qlq{ur,*ro { s'n+ qr+ 6nd swnft+flq q+ st fu*q fi r.rq lefiilT*t Urrqtn +d gt{rfr,T* qi sil{ qr{fr if s.rnqr qnr t ?

frrrlfifud ilfuqir { ..a,,, ,,b,, ilsll .,c,, *t qEqFI qr{ qf,rsq a *lr t :

t Es*'gnr Es rr+

How has it helped in

(5x3=15)

oNa ffi *.eH
5

TTGTT IITTfi f6rm 6t {sm,.
1 *fu*l Tsrrh{q (a)

2. qqzt tq Tsr +q 2

XSr *q :
(b)

3. (c) wr qTq+

w A-4

qiilT flelr sH drffi

No. Crop Variety Insect Pests
1 Brassica Pusa Gaurat' (a)
2. Flat bean Pusa Sem 2

Pusa Sem 3
ft)

3. (c) Pusa Sawani

Pusa A-4
Shoot and fruit borer

Name the tropical sugar.*" u-i.iy g-*n in-South India.
improving the sugar cane quality gro*, in North India ?
Identify 'a', ,b, and .c, in the following table :

28.

Ellir. D

SECTION - D(a) qm'qlqqr qiq of vor+ar t o*a vfuIFh Et qtffir $rsr{q. I(b) q+EP+r+ ii dfqT,nr-qn'+t fuq y.r€r { qMd +fr t ? qlE
q,)fl{r*,r fuflrilT q6T Eldr il qqr e}rn r

(a) {ouvg6 Tqr{'{q it gq srfr{.fl qie-fr..srfi rirfeft ft,qifr srrflrqq | fuqrfr dr q} {*fr€iqqRufi (two key concepts) qffqq 
I

(b) ss *tetrro rn+q *t stt dr 1iM frfuq q) Ts t'e i[*q qfrrqr *-qrs {6r s.{.rfit
(a) Explain the process of DNA replication with the help of a schematic diagram.(b) In which phaY of the cell cycle does replication occur in Eukaryotes ? whatwould happen if ceil-division is not followed after DNA reprication ?

(a) Explain Darwinian theory or r"":Ir"n with rhe herp of one suitabre example.State the two key concepts of the theory.(b) Mention any three characteristics of Neanderthal man that lived in near east andcentral Asia. Y$ *r *vq '

57t1t2
[P.T.O.



zs. (a) w ffiffi sr qrrT ftfisqfrrs+ ffi e1 q{ o,q { {Eqftt fttA ql$ * fr ElmlqfrI

it qtbn FsdI qr eB ffi rR r+h ot q+ r ss aq*o*^sm p.*rdi +mh { H
qr+qrdqr"ilfttq*q+rqq t

5(b) q,lkfr{rtt*qrdrrsrqH qrit t
OIst€tT

(a) qrqi + t'il { *vt qs'sciftffi r+rFt-fi t'r t I {€ frr + {atq { 'tqqi' {qq-4' 6s1

refrg6)foga'wr**t,{rflEq t E
(b) qFnq stpr6pn { rr6qr+ rrq s{ +{i + q{i Hr =nq Pmfiqq ffi *s{ +qr Et socr t

ofutsr s-{+Enr ed Ehr t ftfrqq t

ts ffi qi ils+di * qrq ftfrsqEil .ffi 3i'il siiffitt s1 wqm ii 3qqtft tt-fr t t

{rs{ ffiFit m} sqqr S elivt *' sq il erwr a-i*t-q Bit tflr qmr t ?

Name the technology that has helped the scientists to propagate on large scale the

desired crops in short duration. List the steps carried out to propagate the crops by

the said technique.

O) How are somatic hybrids obtained ? '
OR

(a) cancer is one of the most dreaded diseases of humans' Explain 'contact

inhibition' and 'Metastasis' with respect to the disease.

(b) Name the group of genes which have been identified in normal cells that could

lead to cancer and how theY do so ?

(c) Name any two techniques which are usefu1 to detect cancers of internal organs.

(d) Why are cancer patients often given cr-interferon as part of the treatment ?

30. q*q q1qr i[ mq$; +W q-d offi 6r+it +uqrqi + eiiT'i-d rq] qm'*'drn Et+ eld sffi
qdffiffiqartqrsrEe , 

.,*,
(a) erlqil+-sf ftii { wr qfirqdq + qrd qsq qk*i-{ Hi dnr t r qfqEr€ iqfi1+ ffi +

(b) ffiffiffi {"r 6} *,fiffi 6{+ q* frft=T qur em+nnif er *q a*ikn
oilidtqtwrmtq'irdiqq t

Explain the ovarian and uterine events that occur during a menstrual cycle in a human

female, under the influence of Pituitary and Ovarian hormones respectively'

OR

(a) Why does endosperm development precede ernbryo development in angiospefln

seeds ? State the role of endosperm in mature albuminous seeds'

O) Describe with the help of three labelled diagrams the different embryonic stages

that include mature embryo of dicot plants'

(c)

(d)

(a)

s7tuz



Question Paper Code 57/1/2

SECTION – A
Q. Nos. 1 - 8 are of one marks each

1. State the cause of Accelerated Eutrophication

Ans. Pollutants from human activities /effluents from industries / effluents from home / sewage /
agricultural (chemical) wastes radically accelerate the ageing process.

[1 mark]

2. Identify ‘a’ and ‘b’ in the figure given below representing proportionate number of major
vertebrate taxa.

Ans. (a) Mammals ,

(b) Amphibians = ½ + ½

[1 mark]

3. Give an example of an organism that enters ‘diapause’ and why.

Ans. (Many species of) Zooplankton, unfavourable condition = ½ + ½
[1 mark]

4. Name the two intermediate hosts which the human liver fluke depends on to complete its
life cycle so as to facilitate parasitization of its primary host.

Ans. Snail and Fish = ½ + ½
[1 mark]

5. Mention the type of host cells suitable for the gene guns to introduce an alien DNA.
Ans. Plant cells

[1 mark]

6. Name any two types of cells which act as ‘Cellular barriers’ to provide Innate Immunity in
humans.

Ans. Polymorpho-nuclear Leukocytes /  Neutrophils /  Monocyte , Natural Killer (type of lymphocyte),
macrophages

(Any two) = ½ + ½
[1 mark]



7. Mention how does DNA polymorphism arise in a population.

Ans. Inheritable mutations (in a population) , at high frequency = ½ + ½

[1 mark]

8. Write the name of the organism that is referred to as the ‘Terror of Bengal’.

Ans. Eicchornia crassipes / Water Hyacinth

[1 mark]

SECTION - B

9. Name the organic materials the exine and intine of an angiosperm pollen grains are made
up of. Explain the role of exine.

Ans. Exine - Sporopollenin = ½

Intine - Cellulose and pectin = ½

Role - most resistant organic material  // can withstand high temperature  , acid and alkali = 1

[2 marks]

10. (i) Name the scientist who suggested that the genetic code should be made of a
combination of three nucleotides.

(ii) Explain the basis on which he arrived at this conclusion.

Ans. (i) George Gamow = ½

(ii) There are four bases and 20 amino acids = ½

(There should be atleast 20 different genetic codes for these 20 amino acids)

Only possible combinations that would meet the requirement is combinations of 3 bases that
will give 64 codons = 1

[2 marks]

11. How does the gene ‘I’ control ABO blood groups in humans ? Write the effect the gene has
on the structure of red blood cells.

[2 marks]

Ans. – Gene ‘I’ has three different alleles  IA , IB , i = ½
– IA produces A type of sugar / Antigen   A group

IB produces B type of sugar / Antigen   B group

– i - No sugar - O group = ½

– Structure - sugar polymers protrude from  the surface of plasma membrane of RBCs = ½

[2 marks]

OR

Write the types of sex-determination mechanisms the following crosses show. Give an
example of each type.

(i) Female XX with Male XO

(ii) Female ZW with Male ZZ

= ½



Ans. (i) Male heterogamety , Grasshopper = ½ + ½

(ii) Female heterogamety , Birds  = ½ + ½
[2 marks]

12. A cross was carried out between two pea plants showing the contrasting traits of height
of the plant. The result of the cross showed 50% of parental characters.

(i) Work out the cross with the help of a Punnett square.

(ii) Name the type of the cross carried out.

Ans. (i) Tt     ×     tt   = ½

T t

t

t

Tt tt

Tt tt

= ½

= ½

(ii) Test cross = ½
[2 marks]

13. How can healthy potato plants be obtained from a desired potato variety which is viral
infected ? Explain.

Ans. Remove meristem (apical or axillary) and grow = 1 ,

in vitro / sterile and special nutrient medium / culture medium = 1

[2 marks]

14. How are ‘sticky ends’ formed on a DNA strand ? Why are they so called ?

Ans. Restriction enzymes  cut the strands of the DNA , a little away from the centre of  the palindromic
sites , but between the same two bases on opposite strands. = ½ × 3 = 1½

They form hydrogen bonds with their complementary cut counterparts. = ½

[2 marks]

15. What is Bio piracy? State the initiative taken by the Indian Parliament towards it.

Ans. (i) Use of bio resources without authorisation , compensation = ½ + ½

(ii) The govt has cleared patent terms , emergency provisions , research and development
initiative (Any two) = ½ + ½

[2 marks]

16. Construct an age pyramid which reflects a stable growth status of human population.

Ans.

Pre-reproductive
Reproductive

Post-reproductive(½)

(½)
(½)

Construction of pyramid = ½

NOTE : Proceed marking only when pyramid is correctly drawn.
[2 marks]



17. Apart from being part of the food chain, predators play other important roles. Mention any
two such roles supported by examples.

Ans. - Keeps prey population under control

- Biological control methods

- Maintains species diversity

- Reduces intensity of competition among prey species

(Any two roles and relevant examples each)

[2 marks]

18. Write the role of 'Ori' and 'restriction’ site in a cloning vector pBR322.

Ans. Ori - site where replication starts , responsible for controlling copy number = ½ + ½

Restriction site - site of ligation of alien / foreign DNA , in one of the two antibiotic resistance site /
coding sequence of  galactosidase = ½ + ½

[2 marks]

SECTION - C

19. A colourblind child is born to a normal couple. Work out a cross to show how it is
possible. Mention the sex of this child.

Ans.

XY

X Y X X
c

XXcX X X Yc

X = 1 

= 1

Male = 1

[3 marks]

OR

Mendel published his work on inheritance of characters in 1865, but it remained
unrecognized till 1900. Give three reasons for the delay in accepting his work.

Ans. - The communication was not easy in those days and his work could not be widely publicised.

- His concept of genes as stable and discrete units that controlled the expression of traits and of
the pair of alleles which did not ‘blend’ with each other was not accepted by contemporaries
as an explanation for the apparently continuous variation seen in nature.

- Mendel’s approach of using mathematics to explain biological phenomena  was totally new
and unacceptable to many of the biologists  of his time.

- Though Mendel’s work suggested that factors (genes) were discrete units , he could not provide
any physical proof for the existence of factors and what they were made of.

(Any three points) = 1 + 1 + 1

[3 marks]



20. A cross between a normal couple resulted in a son who was haemophilic and a normal
daughter. In course of time, when the daughter was married to a normal man, to their
surprise, the grandson was also haemophilic.

(a) Represent this cross in the form of a pedigree chart. Give the genotypes of the
daughter and her husband.

(b) Write the conclusion you draw of the inheritance pattern of this disease.

Ans.
XY X

X  Y

hX

h X hX

XY

X  Yh

(½)

(½)

Construction of pedigree chart  = 1

(b) Sex - linked recessive inheritance pattern = 1

[3 marks]

21. Women are often blamed for producing female children. Consequently, they are ill treated
and ostracized. How will you address this issue scientifically if you were to conduct an
awareness programme to highlight the values involved ?

Ans. – Male produces two types of sperms ( X & Y type in the ratio 1 : 1) , Female produces only
one type of ovum (X type) , hence the sex of baby is determined by the type of sperm fertilising
the ovum therefore women should not be blamed  //  A genetic cross showing sex determination
in human beings covering above value points can be considered in lieu of the above explanation
= ½ × 3

– Sensitivity towards community  / Social awareness  / Self discipline / Responsible behaviour /
Leadership quality / Caring attitude / Responsible attitude towards society / Concern for others
/ Sharing of knowledge or information / Presence of mind /Being proactive / any other relevant
value.

(Any three values) = ½ × 3

[3 marks]

22. Draw a labelled diagram of the sectional view of a human seminiferous tubule  (six parts
to be labelled)



(½)

(½)

(½)

(½)

(½)

(½)

(Any six) = ½ × 6

[3 marks]

23. (i) What is primary productivity ? Why does it vary in different types of eco -
systems ?

(ii) State the relation between gross and net primary productivity.

Ans. (i) – Production of biomass / energy per unit area in a given time (per year) by plants
during photosynthesis. = 1

– Depends upon - plant species inhabiting a particular area , environmental factors
availability of nutrients , photosynthetic capacity of plants  (Any two ) = ½ + ½

(ii) GPP – R = NPP    = 1

[3 marks]

24. Study the graph given below and answer the question that follow :
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a

b

(i) Write the status of food and space in the curves (a) and (b).

(ii) In the absence of predators, which one of the two curves would appropriately
depict the prey population ?

(iii) Time has been shown on X-axis and there is a parallel dotted line above it. Give
the significance of this dotted line.



Ans. (i) a - unlimited food and space =  ½

b - limited food and space  =  ½

(ii) Curve a =  1

(iii) Carrying capacity / a given habitat has enough resources to support maximum possible
number - beyond which no further growth is possible = 1

[3 marks]

25. How did the process of RNA interference help to control the nematode from infecting
roots of tobacco plants ? Explain.

Ans. Using Agrobacterium vectors , nematode specific genes introduced into host plant , produced
sense - antisense RNA in host cells , ds RNA - initiated RNAi , silenced specific mRNA of
nematode , parasite could not survive in transgenic host = ½ × 6

[3 marks]

26. Why are beehives kept in crop field during flowering period ? Name any two crop fields
where this is practiced.

Ans. To increase pollination efficiency , increase crop yield / honey yield = 1 + 1

Sunflower , Brassica , apple , pear

(Any two) = ½ + ½

[3 marks]

27. a) Name the tropical sugar cane variety grown in South India. How has it helped in
improving the sugar cane quality grown in North India ?

b) Identify 'a', 'b' and 'c' in the following table :

No. Crop Variety Insect Pests

1.

2.

3.

Brassica

Flat bean

    (c)

Pusa Gaurav

Pusa Sem 2
Pusa Sem 3

Pusa Sawani

Pusa A-4

    (a)

    (b)

Shoot and fruit borer

Ans. (a) Saccharum officinarum , crossed with , North Indian variety (Saccharum barberi) to
increase quality = ½ × 3

(b) (a) Aphids

(b) Jassids / aphids / fruit borer

(c) Okra (Bhindi)               = ½ × 3

[1½ + 1½ =  marks]



SECTION - D (5 × 3 = 15)

28. a) Explain the process of DNA replication with the help of a schematic diagram.

b) In which phase of the cell cycle does replication occur in Eukaryotes ? What would
happen if cell-division is not followed after DNA replication ?

Ans. (a) - Replication of DNA begins at ori, to form a replication fork = ½ + ½

- DNA dependant DNA polymerase forms a new strand in 5'  3' direction = ½

- Role of DNA ligase is to join discontinuously synthesised fragments = ½

5'

3'
5'

3'
Discontinuous fragm

ents /

Lagging strand

Continuous 
strand /
Leading strand

3'

5'

5'

3'

Correct polarity of parental strand = ½

Correct polarity of continuous strand

Correct polarity of discontinuous strand

= ½

= ½

 = ½

b. S phase  =  ½

Polyploidy =  ½

[5 marks]
OR

(a) Explain Darwinian theory of evolution with the help of one suitable example. State the
two key concepts of the theory.

(b) Mention any three characteristics of Neanderthal man that lived in near east and central
Asia.

Ans : (a) • Competition
• Useful variations
• Survival of  the fittest
• Natural selection
• Relevant example
• Explanation of the above points ½×5=2½
Key concepts
• Branching descent ½
• Natural Selection ½

(b) Neanderthal man



• Brain size 1400 cc

• They used hides to protect their bodies

• They buried their dead ½ × 3 = 1 ½

[3½  + 1½ = 5 marks]

29. (a) Name the technology that has helped the scientists to propagate on large scale the
desired crops in short duration. List the steps carried out to propagate the crops by
the said technique.

b) How are somatic hybrids obtained ?

Ans. (a) Tissue culture  / micro propagation = 1

Explants, grown in a test tube , under sterile condition , in special nutrient medium / culture
medium ½ × 4 = 2

(b) Isolated single cells , digests cell walls , to obtain protoplast from two different varieties ,
fusion of protoplast. ½ × 4 = 2

[5 marks]

OR

(a) Cancer is one of the most dreaded diseases of humans. Explain ‘Contact inhibition’
and ‘Metastasis’ with respect to the disease.

(b) Name the group of genes which have been identified in normal cells that could lead to
cancer and how they do so ?

(c) Name any two techniques which are useful to detect cancers of internal organs.

(d) Why are cancer patients often given -interferon as part of the treatment ?

Ans. (a) Conact with other cells inhibits their uncontrolled growth = 1

tumour cells reach distant sites, through blood. = ½ + ½

(b) Proto oncogenes = ½

when activated under certain condition could lead to oncogenic transformation of the cells. =  ½

(c) Biopsy / radiography / CT / MRI

(Any 2) = ½+½

(d) It activates immune system, destroys tumour = ½+½

[5 marks]

30. Explain the ovarian and uterine events that occur during a menstrual cycle in a human
female, under the influence of Pituitary and Ovarian hormones respectively.

Ans. Release of FSH and LH from pituitary , during follicular phase or between 5th - 14th day of menstrual
cycle leads to growth of primary follicle to Graafian follicle (G.F.) in the ovary , Estrogen from
growing follicle helps proliferation of uterine endometrium or its repair , high level of LH at middle  /
14th day of the menstrual cycle leads to rupture of GF causing release of ovum / ovulation , remaining



cells of GF transform into Corpus Luteum (CL) under the influence of LH , CL secretes progesterone
that maintains endometrium in preparation for pregnancy , level of FSH and LH fall due to rise of
progesterone and estrogen  (25th day of the cycle) , leading to degeneration of CL , level of
progesterone falls , leading to disintegration of uterine endometrium and menstruation starts (0-5 day
of the cycle)

= ½ × 10

[½ × 10 = 5 marks]

OR

(a) Why does endosperm development precede embryo development in angiosperm
seeds? State the role of endosperm in mature albuminous seeds.

(b) Describe with the help of three labelled diagrams the different embryonic stages
that include mature embryo of dicot plants.

Ans. (a) As it provides nutrition for the developing embryo / It is an adaptation to provide assured
nutrition to the developing embryo = ½

Provides nutrition during seed germination = ½

(b) The zygote (in the embryo sac) divides to give rise to pro embryo and subsequently to the
globular , heart shaped and mature embryo as shown in the diagram = 1

(½)

(½)

(½)

(½)
(½)

(½)

= ½ × 6

[1 + 4 = 5 marks]
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